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1. (A)   14 

 

   

 (B)  :   4 

  (1)  

  (2)  

  (3) 2010  

  (4)      . 

 

2. (A) 14 

 

   

 (B) MCQ :     4 

  (1)  ________  

   (A)  (B)  

  (2)  ______  

   (A)  (B)  

  (3)  1951  _______  

   (A) 5  (B) 10 

  (4)  

   (A)  (B)  
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3. (A)  14 

   

 (B)  :   3 

  (1)  

  (2)  1999  

  (3)  1927  

 

4. (A)  ?  14 

 

   

 (B)  :   3 

  (1)  

  (2)  

  (3) ‘LPG’  
________________ 
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1. (A) Explain the importance of infrastructure industries in India. 14 

                                 OR 

  Explain importance of cottage and Small industries in India.  

 (B) True or False :   4 

  (1) Four main components of infrastructure Industries.  

  (2) Small scale industries are capital intensive. 

  (3) Public sector unite in India were 249 in 2010.  

  (4) Industrialization is a process of setting up private sector industries.  

 

2. (A) Describe the importance and limitations of public sector in India.  14 

                              OR 

  Explain the importance of private sector in Indian economy.  

 (B) MCQ. :     4 

  (1) Indian railway possesses ________ rank in Asia. 

   (A) first  (B) second 

  (2) Private sector in India employed ______ people than the public sector.  

   (A) more  (B) less 

  (3) The number of public sector unit in 1951 in India was _______. 

   (A) 5  (B) 10 

  (4) The Indian Farmers are not getting proper reward. 

   (A) True  (B) False  



AB-126 4  

3. (A) Give the contribution of service sector in national income and employment in 
India.     14 

OR 

  Describe the importance of Telecommunication and Development of 
Telecommunication in India. 

 (B) True or false :   3 

  (1) Transportation system is classified in four Types. 

  (2) The new Telecommunication policy was implemented in 1999. 

  (3) Civil aviation Department was established in the year 1927. 

 

4. (A) What is unorganized sector ? Give the problems of unorganized labours. 14 

   OR 

  Explain the characteristics of unorganized labours of agricultural sector.  

 (B) True or false :   3 

  (1) Unorganized   workers means Domestic workers. 

  (2) Unorganized sector activities are always illegal. 

  (3) ‘LPG’ is a short name of Economic reforms. 

________________ 
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1. (A)  14 

  
  

 (B) MCQ :     4 

  (1) ________  

   (A)  (B)  

  (2) ______  

   (A)  (B)  

  (3) _______  ‘ ’  

   (A)  (B)  

  (4)  

   (A)  (B)  
 

2. (A)  14 

     

   
 (B) MCQ :     4 

  (1) ______  

   (A)  (B) ONGC 

  (2)  ______  

   (A)  (B)  

  (3)  1951  ________  
   (A) 5  (B) 10 

  (4)  

   (A)  (B)  
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3. (A)  14 

 

   

 (B)  :   3 

  (1)  

  (2)  

  (3)  

 

4. (A)  14 

 

   

 (B)  :   3 

  (1)  

  (2)   

  (3)  
________________ 
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1. (A) What is Infrastructure Facilities ? Explain the Importance of Infrastructure 

Facilities in Indian Economy.   14 
OR 

  What is cottage and small industries ? Explain importance of cottage and Small 
industries in India.  

 (B) MCQ. :     4 
  (1) Infrastructure industries are________. 
   (A) two  (B) three 
  (2) In India contribution of industrial sector in national Income is ______ than 

that of the service sector. 
   (A) more  (B) less 
  (3) _______enterprise of public sector has been identified as ‘Navratna’ in 

India.  
   (A) Indian oil  (B) Indian petrochemical 
  (4) Classify the iron and steel   industry. 
   (A) Capital intensive       (B) Labour intensive  
 
2. (A) Describe the importance and defects of public sector in India. 14 
                             OR 
  Explain the importance of agriculture sector in Indian economy.  
 (B) MCQ. :     4 
  (1) ______is the public sector enterprise. 
   (A) Reliance  (B) ONGC 
  (2) Private sector in the India employed ______people than the public sector.  
   (A) more  (B) less 
  (3) The number of public sector unit in 1951 in India was ________. 
   (A) 5  (B) 10 
  (4) The Indian Farmers are not getting proper reward.  
   (A) True  (B) False 
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3. (A) Give the meaning of unemployment and discuss the types of unemployment.  14 

                                        OR 

  Explain the nature of unemployment and discuss the economic effects of 
Unemployment in India.  

 (B) True or false :   3 

  (1) The unemployment problem is a social problem. 

  (2) The form of unemployment   can be known in two types. 

  (3) Division of Labour creates problem of   unemployment. 

 

4. (A) Explain the concept of poverty line and discuss the indicators of poverty.         14 

                            OR 

  Discuss the government policy for removing poverty.  

 (B) True or false :   3 

  (1) Prof. Minhas presented the concept of poverty line for the first time. 

  (2) In America has only Relative poverty. 

  (3) Low per capita income is indicator of poverty. 

________________ 


